

$2x^2 - \alpha x + \epsilon = 0 \quad \epsilon \beta = \alpha$
 $\alpha \cdot \beta = \frac{\epsilon}{\alpha} = \frac{\epsilon}{\beta} \rightarrow \alpha \beta = \epsilon \beta (\beta) = \epsilon \beta^2 = \frac{\epsilon}{\beta}$
 $\rightarrow \beta^2 = \frac{\epsilon}{\alpha} \rightarrow \beta = \frac{\sqrt{\epsilon}}{\alpha} \rightarrow \alpha = \sqrt{\epsilon}$
 $\rightarrow \beta = \frac{\sqrt{\epsilon}}{\sqrt{\epsilon}} = 1 \rightarrow \alpha = 1$
 $\rightarrow \beta = \frac{\sqrt{\epsilon}}{-\sqrt{\epsilon}} = -1 \rightarrow \alpha = -1$
 $\xrightarrow{x=1} 2(1)^2 - \alpha(1) + \epsilon = 0 \rightarrow 2 - \alpha + \epsilon = 0$
 $\xrightarrow{x=-1} 2(-1)^2 - \alpha(-1) + \epsilon = 0 \rightarrow 2 + \alpha + \epsilon = 0$
 $\alpha = 1 \rightarrow 14 = 1 - (-1) : \alpha = 1$
 $\alpha = -1 \rightarrow 14 = 1 - (1) : \alpha = -1$

$4x^2 - (m+14)x + 1 = 0 \quad \alpha + \beta = -\frac{b}{a} = \frac{m+14}{4}$
 $\alpha \cdot \beta = \frac{c}{a} = \frac{1}{4} \rightarrow \frac{1}{\alpha \beta} = 4$
 $\frac{1}{\alpha} + \frac{1}{\beta} = 4$
 $\frac{1}{\alpha} + \frac{1}{\beta} + 1 \sqrt{\frac{1}{\alpha \beta}} = 10$
 $\frac{\beta + \alpha}{\alpha \beta} + 1 \sqrt{\frac{1}{\alpha \beta}} = 10 \rightarrow \frac{m+14}{4} + 1 \sqrt{\frac{4}{m+14}} = 10 \rightarrow m+14 + 4 = 40 \rightarrow m = -1$
 $mx^2 + 5x + 1 = 0$
 $\frac{c}{a} = \alpha' \beta' = \frac{1}{5}$
 $\alpha' \beta' = \frac{c}{a} = \frac{1}{5} = \frac{1}{m} = \frac{1}{-1}$
 $\rightarrow m = -1$

$5x^2 + kx^2 - 9x - 2 = 0 \quad \alpha + \beta = 1 \quad \alpha \beta = -2 \quad k = ?$
 $\alpha + \frac{-2}{\alpha} = 1 \rightarrow \alpha^2 - \alpha - 2 = 0 \rightarrow \alpha = -1$
 $\alpha = -1 \rightarrow \beta = -2$
 $\xrightarrow{x=-1} 5(-1)^2 + k(-1)^2 - 9(-1) - 2 = 0 \rightarrow 5 + k + 9 - 2 = 0 \rightarrow k = -12$
 $\xrightarrow{x=2} 5(2)^2 + k(2)^2 - 9(2) - 2 = 0 \rightarrow 20 + 4k - 18 - 2 = 0 \rightarrow 4k = 0 \rightarrow k = 0$

$x^2 + 4x + a = 0 \quad \alpha + \beta = -4 \quad \alpha \cdot \beta = a$
 $\alpha^2 + \beta^2 = 5^2 - 16 = 9$
 $\alpha^2 - \beta^2 = (\alpha + \beta)(\alpha - \beta) = -4(\alpha - \beta) = -12 \sqrt{9 - a}$
 $\alpha - \beta = \frac{12}{4} = 3$
 $\alpha + \beta = -4$
 $\alpha = -1, \beta = -3$
 $a = 3$
 $\alpha = 1, \beta = -5$
 $a = -5$

$x^2 - 7x - 5 = 0 \quad A = 2x^2 - 5x + 1 = 0 \rightarrow 2(-\frac{7 \pm \sqrt{49}}{2})^2 - 5(-\frac{7 \pm \sqrt{49}}{2}) + 1 = 0$
 $x^2 = t \rightarrow t^2 - 7t - 5 = 0 \rightarrow \Delta = 49 + 20 = 69$
 $t = \frac{7 \pm \sqrt{69}}{2} \rightarrow x = \frac{7 \pm \sqrt{69}}{2}$
 $x = \frac{7 + \sqrt{69}}{2} \rightarrow x = \frac{7 + \sqrt{69}}{2}$
 $x = \frac{7 - \sqrt{69}}{2} \rightarrow x = \frac{7 - \sqrt{69}}{2}$

$P = \sqrt{\frac{7 + \sqrt{69}}{2}} \times -\sqrt{\frac{7 + \sqrt{69}}{2}} = -\frac{7 + \sqrt{69}}{2}$

$rx^2 - ax + b = 0 \rightarrow \alpha, \beta$ $rx^2 + ax - 4 = 0 \rightarrow \alpha', \beta'$ $\left[\frac{ab}{r} \right] = -1$

$\alpha = \frac{1}{r} + \alpha'$
 $\beta = \frac{1}{r} + \beta'$

$\rightarrow \frac{\alpha + \beta}{\frac{1}{r}} = 1 + \frac{\alpha' + \beta'}{\frac{1}{r}} \rightarrow \frac{\alpha + \beta}{\frac{1}{r}} = 1 \rightarrow \alpha + \beta = \frac{1}{r}$

$\alpha\beta = \alpha'\beta' + \frac{1}{r}(\alpha' + \beta') + \frac{1}{r^2} \rightarrow \frac{b}{r} = -1 + \frac{1}{r} \left(-\frac{a}{r} \right) + \frac{1}{r^2} \rightarrow b = -4$

$\left[\frac{ab}{r} \right] = \left[\frac{-4}{1} \right] = \left[-\frac{4}{1} \right] = [-4] = [-1]$

$ax^2 - ax - b = 0 \rightarrow \alpha, \beta$ $rx^2 + rx - 14 = 0 \rightarrow \alpha', \beta'$

$\alpha + \beta = \frac{b}{a} = 1, \alpha\beta = \frac{c}{a} = -\frac{b}{a} \rightarrow \alpha' + \beta' = s' - r'p = 1 - r' \left(-\frac{b}{a} \right) = 1 + \frac{rb}{a}$

$rx \cdot \beta' + r \cdot \alpha' + r \cdot \beta' - r \cdot \beta = 14 \rightarrow r(\beta' + \alpha') + (r\beta' - r\beta) = 14$

$1 + \frac{rb}{a} + \frac{b}{a} = \frac{14}{r} \rightarrow \frac{rb}{a} = \frac{14}{r} - \frac{b}{a} = \frac{-r}{r} \rightarrow \frac{rb}{a} = -\frac{r}{r} \rightarrow \frac{b}{a} = -\frac{1}{r} \rightarrow b = -\frac{a}{r}$

$|x - \beta| = \frac{\sqrt{D}}{|a|} \Rightarrow |x - \beta| = \frac{\sqrt{4a^2}}{|a|} = \frac{2|a|}{|a|} = 2 \times \frac{1}{|a|} = \frac{2}{|a|} \rightarrow$

$x^2 - (a+1)x + a = 0$ $x^2 - (ra+1)x + b = 0$

$\alpha + \beta = \frac{b}{a} = a+1$ $\alpha' + \beta' = \frac{b}{a} = ra+1$

$\rightarrow rk + r + rk + r = a + r \rightarrow rk = a - r$

$\alpha\beta = \frac{c}{a} = a \rightarrow (rk+1)(rk+r) = rk^2 + rk + r = a$

$\rightarrow rk^2 + r(a-r) + r = a \rightarrow rk^2 + ra - r^2 + r = a$

$\rightarrow rk^2 + rk = 0 \rightarrow k^2 + k = 0 \rightarrow k(k+1) = 0 \rightarrow k = -1 \rightarrow -1$

$x^2 - x - 1 - mx^2 = 0$ $\alpha^2 + \beta^2 = 0$ (min)

$\alpha + \beta = \frac{b}{a} = \frac{1}{1} = 1$ $\alpha' + \beta' = s' - r'p = 1 - r'(-m-1) = 1 + rm + r \rightarrow \alpha' + \beta' = r + rm$

$\alpha\beta = \frac{c}{a} = -m-1$

$m_{min} = 0 \rightarrow m = 0 \rightarrow$

$m_{min} = -\frac{b}{ra} = 0$

$x_{min} = \frac{r-D}{r} = \frac{-r}{r} = -1$ $y_{min} = 1$

$x_{min} = \frac{b}{ra} = \frac{1}{ra} \rightarrow b = ra$

$y_{min} = \frac{-D}{4a} = \frac{-b^2 + 4ac}{4a} \rightarrow \frac{-b^2 + 4ac}{4a} = 1 \rightarrow -a + c = 1 \rightarrow c = a+1$

$c = a+1 \rightarrow c = \frac{-r}{r} + \frac{r}{r} = \frac{1}{r} \rightarrow$